= AH O
N = 0 &8 AF S & Al A
20108E =2 1 5 YB35 HEE2S0IAEER ~ EEE2S0AER
PA: BEES0IAER
M NASHRASSLNL(SLHL+L/5Y - 5&)

CHel: HYRAISEHR (&3
2N -3 - c2(3H) - NEME - HES 0] Ao pjEsifon Hl =2
HC=2S0AEE 573,923 590,641 A16,718

= 500 500 0
2 80,000 80,000 0
[ 493,423 510, 141 A16,718
NEESRSSH NS (sSHHLAH/ s - 55) 439,594 455,312 AN15,718
= 500 500 0
2 80,000 80,000 0
[ 359,094 374,812 A~15,718
YR AIEAR 199,854 209,772 A9,918
= 500 500 0
[= 199,354 209,272 A9,918
HYSESSHHP 98,311 104,011 A5,700
201 LEt2HH| 20,900 22,900 22,000
01 AFS22IH] 20,900 22,900 A2,000
02 eta==2H| 20,000 22,000 A2,000
O2=0SANASELTLAS (M A=)
Z3A 18,000,000 18,000 20,000 A2,000
207 S RIoH | 24,300 28,000 A3,700
03 AIE | 24,300 28,000 A3,700
OH Y s+ (olAtR2) JE 9,300,000 9,300 13,000 A3,700
NS NER oL MA )| = 100,543 104,761 A4,218
207 S ROHEH| 31,232 35,000 N3,768
03 AlE &3] 31,232 35,000 13,768
OHSYsos(oarE)  2AE 11,232,000 11,232 15,000 N3,768
301 LB AZ 4,050 4,500 A450
10 SHALAHI 2 A2 4,050 4,500 A450
OS50t P3| Yar=3| Q0 E (M AR )
Z3A 4,050,000 4,050 4,500 A450
R AP BIE A 239,740 245,540 25,800
%* 80,000 80,000 0
[ 159,740 165,540 25,800
HRAISEARAILSZH A 79,740 85,540 A5,800
206 M2 H| 2,700 3,000 A300
01 24l 2,700 3,000 A300
DL H82 0|20 S =X WM (0l AHE2H)
2 2,700,000 2,700 3,000 A 300
405 XtAHE SHI 26,500 32,000 25,500
01 MHARSEFSH 26,500 32,000 A5,500
OH IS =S| (ol arE )
ZE 19,500,000 19,500 25,000 25,500
HHMSHAH| (HE=2S0LAIE ) (JIEHDJIE 134,329 135,329 21,000
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